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wgEqul T 2 () - T EvE A R f—(an), () @ ()1

Important Instructions : Question paper is divided in three Sections—<A), (B)

and (C). '

(i) @8 (&) % W W9 & 0 o T

All questions of Section (A) are compulsory.
(i) @ (F) W (¥) ¥ A = v woe wat o
Solve any one section from Sections (B) and (C).

(v) 3% @T ¥ uf
e

Write all answers of each section in same place,

) aﬁmnm—ﬁmmaﬁammwﬁ%m%,

Maximum word-limit is only for the theoretica] questiong

T F I @ WA R
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@US-(31) / Section-(A)
WA Wl T iy & R Srain

(Partnership Firms and Company Accounting)

fdar ; GUe-(3) ¥ Wt @ it wienfeRit ¥ ferg it €1 W HE 19 6
T AT T ¥ | Y& T W 1 i P ¥ e TE # SW
19 A 7 9 3w wgne v off #

Instruction : All questions of Section-(A) are compulsory for all students. Question
Nos. 1 to 6 are very short answer type questions carrying 1 mark each.

Answer these questions in / word or / sentence and also include objective
type questions.

TS W
Objective type questions : _
UH-1  HRIEH SO W 7T H WRERT F R0 W e S /e # [1]
(37) 10% =if¥er |
() 8% =nfi=
(T 5% EIRED
() 6% o=
In the absence of Partnership Deed, interest on partner’s loan is p
(@) 10%p.a.
(b) 8%p.a.
(¢) 5%p.a.
(d) 6% p.a.
A2 R RAE . | [
(37) FOA FAR/R :
(%) Foi & @
(9) =orl & s
(2) o9 4 = =

Debenture-holders are :

:;yablé D

(a) creditors of the company
(b) owners of the company
(c) customers of the company
(d) None of these

NM-43 C —



[3]
AR TR @ ST T AR L

[1]

wy-3
(37) ST TE Y G T
(7) @it aReRl = weAfa @
(7) ogEY F WEE W
(3) o wst
A partner can retire from the partnership firm :
(a) by giving notice of retirement
(b) by the consent of all partners
(¢) as per the provisions of the deed
(d) All ofthe above
UYA-4 1 RVIYST <l g0 foRd o Wehell § ? [
Can debentures be forfeited? _
WA-5 e TRV 9w A fags § weRtfa wni e wRenl ¥ we fee
I H sfe ¥ 2 (1]
Atretirement the general reserve shown in balance sheet is distributed
among the partners in which ratio? ‘
TH-6 el @l S @il e ? [1]
When is Realisation Account opened?
Frdr ¢ A 7 R 10 T TS W § | YAF W W 3 s Freiia ¥ ) 9w
! ifushan W so wis ¥
Instruction : Question Nos. 7 to 10 are short answer ‘type questions. Each question
carries 3 marks. Maximum word-limit of answer is 50 words.
AT Z 193 79 150 sivli W R w 0w i 3t ot g prem &
Ty a,mqtsﬁ.uﬁaima4auﬁram@fﬁmﬁnaﬁnﬁrm
T B = 7 foen 1 2 H IR F 30l F @ iy
e voft wiafiat wifi _
3]
Z1td. forfeited 150 sh i [
il shares of Rajesh of Rs. 10 each, which was fy]
called up, wherein Rg 3 on all Y
. otment and Rg, 4 on final call
unpaid, Pass necessary Journal Entries o was
to forfeiture of shares. " the books of Z Lta. related
NM-43 C T
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frctor

[4] |
o 1 ) fowan) et T

@mﬂ%maa@zsooowﬂ ot st AR (1v5+1%=3]

L * ) the ublic-
A COmbany issued 25000 equity shares of Rs. 10 each t‘;’a JI:_mmai
Whole amount was received in [ump-sum. Pass necessary
Entries in the books of the company.
T fafee 3 & Wi 99,000 . 3 7o yed @ GO Hﬂwﬁﬁ T
¥ 100 T a4 11°Awﬁfﬁﬁm|§ﬁﬁﬁ%€ﬁgﬁﬂﬁ FEAEH o
it wfafel AR [1%+1%=3)
Durga Limited purchased a machine for Rs. 99,000 from Raj Traders

and for its payment issued 11% debentures of Rs. 100 each. Pass
necessary Journal Entries in the books of Durga Ltd.

TR & w | frage o F 9 d Fw fafe " [1+1+1=3]

Write any three reasons for the retirement of a partner from a firm.

. oo I 11 T 12 TS W ¥ | WAE T W 4 I Fuife § 1 5@
T T AR fahed ¥ ) W Ht fuman U9 75 v R

Instruction : Question Nos. 11 and 12 are short answer type questions. Each question

TT-11

carries 4 marks and has internal choice. Maximum word-limit of answer
is 75 words.

W SR T T HH H WEER €11 9990, 2018 T I I A
25,000 %. 31X 20,000 %. ot | 3% St W 8% wfr ond =} = | == fean
TR & T SR SR W 12% A TR0 S ¥ 1 T Y 1 e, 2018
N 10,000 & HH WA F ¥ F KW W 5,000 5. wfw a7 T,
Tl & | 36 METU T ST HE: 600 %, T 500 %. THIET IT| 31

fertert, 2018 AT 9 H TV SR TR ¥ 7
2018 @1 AM-B1 FEem @ s9mu) e 25,000 F. o1 | ¢

(4]

Ram and Shyam are partners in a firm whose capitals on 1st Janu
2018 were Rs. 25,000 and Rs. 20,000 respectively. They are all{}\:z:,l
interest on capital @ 8% p.a. and interest on drawings is chareed
@ 12% p-a. Ram gave Rs. 10,000 to the firm as a loan on 1st Jg'e
2018. Shyam is entitled to get an annual salary of Rs. 5,000 | uly,
charged on their drawings were Rs. 600 and Rs 50(; res;:uelltt?eslts
) vely.

The profit for the year ended on 3
Ist D
making above adjustments was Rs. 25.0 00 :r‘zzl)er, 2018 before

Appropriation Account for the year 2018 ¢ Profit and Loss

NM-43 C



Heqr

OR
A4, B3N C SRR ¥131 9, 2018 =1 3 fazan Frfafad o
Tfaa s wwraar LUty
(%.) (%.)
IR 3,000 | =i 1,200
Isht : T 400
A - 2,000%. w6y 2,650
B - 1,750, TR ' 3,780
C - 1,500%. 5250 | Aws 220
8,250 8,250
1 a7, zo1sﬁéoﬁwﬁmﬂﬁm%ﬂ?mﬁmﬁw
TeHd B §—

(i) =% 1,500 %. Tl & fere aun 1,800 . Yot ¥ ferg =1 =rdym |
(i) AN T AT e AR 950 %, 3R 380 . 31T 4T |
(if) EhY T Y 450 F. T T |

-3 SHEeE TR SRy

A, B and C are partners. Their Balance Sheet as on 31 March, 2018
was as under :

Liabilities Amount Assets Amount
. (Rs.) (Rs.)

Creditors 3,000 |Machinery 1,200
Capitals : Furniture 400
A - Rs. 2,000 Stock 2,650
B -Rs. 1,750 Debtors “3.780
C-Rs. 1,500 5,250 |Cash 220
8,250 8,250

On 1st April, 2018, they admitted D for equal

shares on the following
conditions—

(/) He will bring Rs. 1,500 for Goodwill and Rs. 1,800 for Capital in cash

() Machinery and Furniture were valued Rs. 950 and Rs. 380 respectively.
~ (iif) Value of stock be increased by Rs. 450,

Prepare Profit and Loss Adjustment Account.

NM-43 C *  PT.O.



[6]

=12 mmmmm_mﬁwmﬁﬁmm(ﬁm' [1+1+1+1=4]

) . ini io (any four).
Differentiate between Sacrificing ratio and Gaining ratio (any four)

3rgar
OR

e #t et 9w fordreaell @ Rt |

Explain any four characteristics of Partnership.

fader

Instruction

: mmuﬁwwaﬂﬁﬂuw%immmswﬁuﬁm%l

Y% Y W Itiafisd faeeq ®

. Question Nos. 13 to 15 are long answer type questions. Each question

carries 6 marks. Each question has an internal choice.

WH-13  UE % ¥ famen ¥ Frefafa gemel 4 U wfafedl ST :[1+1+1+1+1+1=6]
(i) UF sferEa gufa & g gan 1,500 . | B
(if) aYe =49 % 1,000 T. YH| |
(iif) TRR oA oqet @) # wEEia fHa w1 g €, 9 48,000 .

Y w3 @

(iv) 7,100 %. FEF H mﬁmﬁﬂa@eﬂ@ﬁﬁmﬂmﬁa%mwgﬁl

R, 1 & WIRIRR B A 5,000 % H & femn)

) Wﬁﬁa@mﬁmmmw%ﬁmocww

- feami

(vi) S T AN 12,000 %. B ;D H 7 : 5 % sy A siter

Pass Journal Entries on the dissolution of a firm from the given informations

(i)

Rs. 1,500 realized from an unrecorded asset.

(if) Paid dissolution expenses Rs, 1,000.

(itf) Debtors transferred to Realization Aﬁcount realised Rs. 48,000.

(iv) Stock Rs. 7,

100 transferred to Realization Account was taken
over by a partner B for Rs, 5 ,000.

(v)  Creditors transferred to Realization Account paid off Rs. 30,000
(vi) Realization profit Rs, 12,000 to be distr

ib
in the ratio of 7 : 5. mf’d among B and D

NM-43C
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3rerar
OR

Xa?wqmtaﬂam@m%uﬁﬁa:ﬁammﬁmfaﬁaamﬂrﬁ#m
gsft wfafiedl FIET

(i) wmhmﬁfaﬁaﬂgﬁuﬁrs,ooom

(if) QR ) 3,000 % TR F T

(i) v Ford el o e fn g ¥, 2,000 % S T
(iv) TafrEri | 10,000 ¥. IH B

(v) foaeT =39 % 800 %. THY T

(vi) e @I ¥ T 6,000 T X AR y# 3. 11 faafa fora s €

X and Y are partners in a firm: Pass Journal Entries when the firm is
dissolved on the following conditions :

() Amount realized from an unrecorded asset Rs. 8,000.

(i) Rs. 3,000 were paid in cash to creditors. _

(iii) Stock transferred to Realization Account was sold for Rs. 2,000.
(iv) Rs 10,000 were realized from investments.

(v) Dissolution expenses paid Rs. 800.

(vi) Profit on realization Rs. 6,000 is shared by X and Y in the ratio of 3 : 1.

WA-14  THHH H L, M RN TR F WEER ¥ 131 KEW, 2014 B M WYy
® ) 7 fafd T IW 20,000 ¥4 37 4t | 7% Fof foran wn for @ wfn
5,000 T. ST aftht R T T A H ST | HOH PRE 1 S,
2015 = fean T 991 WiG 96 S PEE 1 Sad w e T A
ST F g 2 S, 2017 WA W) Ry 9 aiE 9 W 6%

it 3 Y A F O R T XV AR SwwwmAIA [242+42=6]

L, M and N are equal partners in a firm. M ﬂiéd on 31 'Dec-::embér,

2014. On this-date, amount payable to him was Rs. 20,000. It was

decided that this amount will be paid by annuity of Rs. 5,000 to be

paid eac_h year. The ﬁrst‘ payment was made on 1st January, 2015 and

other payments were also made on st January every year. On 2nd

January, 2017 his legal representative died. Interest was allowed @

- 6% p.a. on balance amount. Prepare Annuity Suspense Account.
-""‘"--—___

NM-43 ¢
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arear
OR

X, Y@ﬂZ@WﬂﬁH@m%ﬁﬁm—aﬁwfﬂﬂmszznaEW
H & &1 1 S, 2014@[XWWW%13'HWHW?@
20,0003.&11emwﬁu{umwﬁuﬁnﬁrs,oooaaﬁaﬁaﬁgm

YA <} SR | W A 1 e, 2015 F fean e wfa o 3T
AT 1 A ) fR T 2 SR, 2018 X R g B I

wfa od it I W 6% fF F X Y A H TFA FI A E

Rt IT T TR | [1Va+1Va+1Ya+1Y2=6]

X, Y and Z are partners of a firm sharing profit and loss in the ratio
of 3:2:1.On Ist January, 2014, X retires from the firm. On this
day share of amount payable to him was Rs. 20,000. It was decided
that this amount will be paid by annuity of Rs. 3,000 to be paid each

year. The first payment was made on 1st January, 2015 and other

payments were also made on 1st January every year. On 2nd January

2018, X died. Interest was allowed @

6% p.a. on balance amount.
Prepare Annuity Suspense Account.

91-15 Thnaﬁ{ﬁq%gﬁhoaalémooomaim,zamamﬁﬁmm

forifira For | TR Pt Wb 2 ol

1cation
Rs. 5 per share on allotment (!ncludmg Prémium) and bal
a
All amount were duly received, pyq Yournal ance on call
mal bntr
the company. res

in the books of

NM-43 C



3rerar
OR

S fafee 3 100 %. AT 4000, 5% FOTS 10 . IR RO Wiftram W fiy
R Frifia ferg—emad w20 %, 31 W 50 %, (Siftram wfiew) @
A Fre O Wi ST o e ot e g 1wt ufe g me e g
1 HR Y et o de) wfafeat s

Jain Limited issued 4000, 5% debentures of Rs. 100 each at a
premium of Rs. 10 per debenture payable-Rs. 20 on application,
Rs. 50 on allotment (including premium) and balance on call.

Applications were received for all debentures. All money were duly

received. Pass Journal Entries in the books of the company.

et : mmwuﬁnmﬁqﬁm%mﬁmttﬁmsﬁﬁuﬁﬂﬁlm
TH W 3iaftw famen &)
Instruction : Question Nos. 16 and 17 are numerical questions. Each question carries
8 marks. Each question has an internal choice.
WA-16 T, WA SR R O B wdem € <y am-gif 5 fawrsm 17, 173
3 /6% o ¥ Fw ¥ 3] feu, 2016 W1 ITH1 Tazan Fretrem o -
e afyr Hufvar e
(%.) (%)
TR 8,000 | Irrs 15,600
Joh arfufaerd 3,600 | fafay Jqew 13,000
= 959 12,000 | why 17,000
it RkE 3,000
W - 20,0003 IYTHY 3,500
TR - 10,000 . g 11,500
WRE - 10,000 %.| 40,000
63,600 63,600
"'~._._____-____
NM.43 ¢
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1> 1
3reqr

OR

S fefiree 4 100 . A 4000, 5% T 10 F. Wit FHOTTH Fifraw w ey
R Tifia fehg—stmeea W 20 %, 31T W 50 %. (ifaaw wfica) qon
9 A O T O % T e e g ws uft g v
T | S W e ¥ o wfafet 3t

Jain Limited issued 4000, 5% debentures of Rs. 100 each at a
premium of Rs. 10 per debenture payable-Rs. 20 on application,

Rs. 50 on allotment (including premium) and balance on call.
Applications were received for all debentures. All money were duly

received. Pass Journal Entries in the books of the company.

fider TR FHE 16 T 17 HEAHH T § | G0 ¥ W 8 sk Piyifd ¥y
Y W Aiafen fawew ¥
Instruction : Question Nos. 16 and 17 are numerical questions. Each question carries
8 marks. Each question has an internal choice.
TE-16 TH, AEAY 3R WRA OF W wen ¥ @) A== w1 A 1/, 1
3R Vo % g H w5 1 31 Rt 2016 W T T3t PR o -
T Tt Hufaat KU
(%) (%.)
AR 8,000 | IwT 15,600
d stfufaerd 3,600 | fafay dqer 13,000
T H9 12,000 | why 17,000
gt REE 3,000
9 - 20,000 %, IR 3,500
HEHOT ~ 10,000 . T 11,500
YRd - 10,000%. | 40,000
63,600 63,600
H""""—'——— e ——
NM.q3 ¢
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arerar
OR

X 3R v o A iR ¥ 3R ena-gi it faurst 3:1 6 oraE | w3
2| 321 31 feger, 2017 I R §HE A 1 v fean sTm

T

Tergar frergam o
——— Aot wafwat afer
(F- ) (Fo )
SRR 2,700 | & H U*s 3,000
ElL R Er 3,000 | ¥ER 1,000
Y &1 H0 3,000 | e 19,700
S X 12,000 LEE 9,000
Y 12,000%.| 24,000
32,700 32,700
Tt & e ot g
SRR 900 %., WAIUE 18,000 F. T M 7,200 . | SR & T YA H
2,600 %. fea T, st =5 500 ®. gu|
TR el T RS 1 St @ s [5+3=8]
X and Y are partners in a firm sharing profit and loss in the ratio of
3:1. They decided to dissolve the firm on 31 December, 2017. Their
balance sheet was as follows -
Liabilities Amount Assets Amount
| (RS.) (RS.)
Creditors 2,700 | Cash at Bank 3,000
General Reserve 3,000 |Debtors 1.000
¥’s Loan 3,000 | Plant 19.700
Capital : X Rs. 12,000 Buildings 9.000
Y Rs. 12000 | 24000 | - ‘
[ ———
32,700
\ 32,700

P.T.O.
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Following were realized from assets :

e ditors
Debtors Rs. 900, Plant Rs. 18,000, Buildings Rs. 7,200, Credito

i i id Rs. 500.
were paid Rs. 2,600 in full settlement, Dissolution expenses paid Rs

o t.
Prepare Realization Account and Partner s Capital Accoun

o fafiee ST 3 10 T, T 10000 379, 4 7, Wfa 7w Shfiram w frifia

AT W 4 T, Wa 3w (Wifiam 1 %.)
& W 3 %, wia st (iftgm 1 %)
UIH AT W 4 %, i o9 (M 1 %))

aﬁqmmﬁ.uﬁm(ﬁﬁwma)

mﬁnﬁm?mmmﬁﬂm‘qﬁﬁwaﬁﬁmmﬁﬁauﬁﬁzﬁ

[1+I+l+1+1+l+1+l=8]
A limited company issued 10000 shares of Rs. 10 each, payable at

premium of Rs. 4 per share. Amount payable as :

On Application Rs. 4 per share (including premium Re 1)

3 per share (including premium Re. 1)

Rs. 4 per share (including premium Re. 1)

Entries in
the books of the Company.

uy{-17
foru | ufe it waem Wit e .
wHifsa |
On Allotment Rs.
On First Call
NM-43 C

\
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arerar

OR

aaar fafies A 100 10000, 8% *orda frffaa fu | smae w
101:,amizﬂmzoa.,umwmwaamaiﬁnwmsoam
pora < @ i Wit | W T e e #

HYA Hi g{-'cﬁ?l 7 doft wfafeal wifew|
Samta Limited issued 10000, 8% debentures of Rs. 100 each. Amount
payable Rs. 10 on application, Rs. 20 on allotment, Rs. 40 on first

call and Rs. 30 per debenture on final call. All amounts were duly

received. Pass Journal Entries in the books of the company.

@|ue-(d) / Section-(B)
faira faemoi &t faveiwor

(Analysis of Financial Statement)

frder : W HHE 18 T 19 Ay wed ¥ | Wolde W W 1 3 Fruifa )

Instruction Question Nos. 18 and 19 are very short answer type questions. Each

question carries 1 mark.
wsi-18  uet fawen g :

Choose the correct option :

Y W ST B & -
(3 10

() 211
(% 31
() 41

(1]

The ideal liquid ratio is :
(@) 1:1
() 2:1
(e) 3:1
(d 4:1

NM-43 C
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| [vat+Ya=1]

w19 =g e & 2 e fafau

Write two examples of current liabilities.

i 4
: szoazzﬁawﬁﬂm%‘mﬁﬁmﬂ4ﬁﬁﬂfﬁ'ﬁ

e
TF Y | AahE faFeq 2 .
uestions. Each question
Instruction Question Nos. 20 to 22 are short answer type q
carries 4 marks. Each question has an internal choice.
: AT : 4
wyt-20  Frafafas faawol ¥ vaem @ ww A &t TUE - 4)
ad 2017 T4 2016
faaror (%.) (%.)
IR 15,000 12,000
Hd g 3,000 1,000
a2 2,000 2,500
FER 13,000 15,000
=4 2017 % A A9 3N 25,000 . |
F the following i i .
rorn- ¢ tollowing information, calculate Cash Flow from operating
activities : '
o | v
Particulars Ye?l;:;}” Year 2016
R
Debtors
15,0
00 12,000
Outstanding Expenses 3,000 00
Prepaid Expenses 2,000 2' 0
Creditors 300
13,000 |
. - 3,000
Profit during the year 2017 is Rs. 25,000, \J
NM-43C

 —




(15]

arddil
OR
o e Qe s @ A AT 9 T A
31-3-2017 | 31-3-2018
faam (%.) (%.)
el 1,20,000 1,10,000
SR 62,000 50,000
Igd et 42,000 24,000
weag s 4,000 8,000
AR 38,000 26,000
wfa 76,000 80,000
Calculate Cash Flow Statement from the following information :
31-3-2017 31-3-2018
Particulars
(Rs.) (Rs.)
Profit and Loss A/c. 1,20,000 1,10,000
Debtors 62,000 50,000
Outstanding Rent 42,000 24.000
Prepaid Insurance 4,000 8,000
Creditors 38,000 26,000
Goodwill 76,000 80,000
UyA-21 ﬁﬂﬁﬁaﬁqamaﬁﬁmqajmmaﬂﬁm:
WY (RIF) 26,000 ., IR 20,000 %., W< fq9x 6,000 %, Afiny
FTHEA 3:,000 T., T IHT 20,000 %., TR 30,000 %., 37 faux
18,000 ¥, s sifufird 2,000 %,
From the given information, calculate Current Ratio -
‘it;)ck Rs. 26,009, Debtors Rs. 20,000, Bills Receivable Rs. 6,000,
vance Tax.pald Rs. 3,000, Cash in hand Rs. 20,000, Creditors
Rs. 30,000, Bills Payable Rs. 18,000, Bank Overdraft R 2
* 5000.
NM-43 C
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(4]
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W9T-22

frder

Instruction

w-23

[10]

srear
OR

Fret il @ et STaw i 7O I :

% 000 %.,
e 39 1,40,000 %., FHEfwe it 1,80,
AN 3,000 ., EIF 1,10,000 %.

Calculate Quick Ratio from the following details :

; i 000,
Current liabilities Rs. 1,40,000, Working capital Rs.1,80,
Creditors Rs. 3,000, Stock Rs. 1,10.000.

A% Wars faeww F #1d 9n 32va fofaw | (Frl+l1=4]

Explain any four objectives of Cash Flow Statement.

Har
OR

mmﬁmmmmﬁﬁwﬁaﬁmﬁ?ﬁm(ﬁé R) |
Differentiate between cash flow statement

and Fund Flow
Statement (any four).

: Question No. 23 is long answer

Ype question This
6 marks and

it has an internal choice,

WW%%@WWW(% B |

question carries

P (14141414 1+1=6)
Explain the importance of analysis of financia) Statements (any ¢; )
ny six),



1171
wuz-(|) / Section-(C)
FOET AT

(Computer Accounting)

o :uvrﬁm$1sqé19aﬁﬁgﬁmau$r%rﬁﬁsu$1wr1dﬁﬂ#ﬁﬁﬂ%l

ions. Each
Instruction : Question Nos. 18 and 19 are very short answer type questions. E

question carries 1 mark.

ya-18 e fasweq 9w [1]
Choose the correct option :
T A FA-G ST AT ] ?
(37) A=™
(@) Fefroe
(%) "R
(3) F=ra GunE IR
Which of the following is an output device?
(a) Mouse
(b) Keyboard
(¢) Monitor
(d)y CPU
uyi-19

=1 A efterdre Sieds ¥ Tm fafau

[Va+ve=1]
Write the names of any two application softwares

NM-43C

P.T.O.



[18] .
] i fauifa €1
et :mmﬁzoﬁzz%ﬂwmgl Wmdlﬁ;%l
e W W it e § iR I A AR A 75

ions. Each questinn
Instruction : Q||e5ti0n Nos. 20 to 22 are short answer type QUCSU |
H i Maximum word-limit

carries 4 marks. Each question has internal choice. Miaxi I

of answer is 75 words.

W¥I-20  FEHX H R F STER Sriin SHHEy| [1+1+1+1=4]
Explain types of computer on the basis of functionality.
3yqqar
OR
SR &l fF= aR wpe fediaisl = wagmEe)

Explain any four main characteristics of computer.

UPA-21  SREY WY Yonelt & fafi= syt ) awews ($E 9w) | [1+1+1+1=4]
Explain various applications of Database Management System (any four).
arerar
OR
TRAY V&Y JTeh & hig e TR |

Explain any four advantages of Databage Management System

UyA-22 TR IR R PR TR S fafay

[1+l+1+1=4]
Write any four utilities of Electronic Spreadsheet.

Hear
OR

géagﬁmﬁmn—ﬁaﬁaﬁéwﬁw%m

Write any four characteristics of Electronic Spreadsy,
sheet

NM-43 C T



